COBRA
STEERING SYSTEMS

INSTALLATION AND
MAINTENANCE GUIDE

Whit{i}ock

WHITLOCK MARINE STEERING CO. LTD.

Head Office: European Branch Office:
Crescent House, 1-5 Latimer Road, Veldweg 6, 6075 NL Herkenbosch
Luton LUI 3UZ, England Nederland
Tel: +44 (0) 1582 404400 Tel: +31 (0) 475-535757
Fax: +44 (0) 1582 400331 Fax: +31 (0) 475-536489
E-mail: E-mail:

whitlock_marine@compuserve.com whitlock_holland@compuserve.com

COBRA 6R DELUXE/

[ 3
i COBRAG
MONOCOLUMNY
COBRA PREMIERE XL
 Complies with IS08847




Whit{A)loc

Cobra 4/4R

Technical
Information

KEY OF PARTS

1
2
3
4

o

11a

TUBE ASSEMELY
TOF BOWL CASTIMG

FOOTCASTING

LOWE RBEARING MOUNTING B133 COBRA L]
LOWER BEARING MOUNTING (7158 COBRA 4R
LOWERSEARING (6160 COBRA )
LOWERBEARING |T180 C0BRALR)
GREASENIPPLE

TORQUE TUBE({E170COBRA 4]

TORQUE TUBEF1T70COBRA d4R]
OUTPUTLEYER

TORF BEARING MOUNTING (6172 COBRAS) -
TOF BEARING MOUNTING (7172 COBRAAR)
SHAFT MAINBEARIMG E173 COBRA 4)

SHAFT MAINBEARIMG [T173 COBRA 4R}
QUADRAMT LOCATING EOLT & WASHER
QUADRANT EEAR (G173 C0BRAL]
QUADRAMT GEAR (7173 COBRAAR)
FEATHERKEY JQUADRANT
PIMIORN & SHAFT

PIMION BEARINGS
INPUTCARTRIDGE
WIOODRU FF KEY IWHEEL)
BRAKE AGSY
TOF COWER




" Cobra 4/4R

Maintenance

Your Cobra steering system bas been designed and
manufacturad to the highest standards o provide many
yaars af trauble free service. To get the best from your
systermn there are some simple maintenance hints,

1.1 Once a season unscrew the six countersunk stainless
sorevws which retain the top cover. Clean and refit
using Whitlock anti-saize cragam.

1.2 Carry out the same proceduwre on the four stainless
steel countersunk screws which retain the brake
caver. Mate it is necessary to remowve the steering
wheel to access these screws. Be careful not to lgose
the stearing wheel key!

1.3 At least twice a season thorcughly clean the pedestal
in fresh water and apply a coat of good guality car wax
palish. £

1.4 any paint has been  accidentally chipped,
immediately rub down the area locally using a fine
grade of wet and dry abrasive and touch in with yacht
enamel  designed  for  aluminium  surfaces.
International Yacht Paints hawe suitable products.

1.5 Twice =2 sesson regrease the lower boaring via the
grease nipple, using a medium viscosity thixatropic
grease. This grease is available from Whitlack Marine
or its agents in a handy % kg fub.

1.6 Perindically check that the tiller lever, draglink
assemibly and output lever ne=t are securely fastened,

1.7 Every bwo vears remove the sompass and top cover
[see point 1.1 above} to inspect the gears and check
tha integrity of the quadrant key and fastening bolt,
Rotate the steering wheel uniil the systerm reaches the
rudder stop and apply additional moderate turning
effort to check there is no melative move ment between
quadrant and down shaff 3ssembly. Remember 10
seal the tap cower, COMp&SS wire grommet and
compass fixing bolts on resassembly.

Reshimming pedestal to adjust gear mesh

It 1s possible after a period of time for a small amount of
play to develop in the gear mesh. This will not exceed
10mm gn the fim of a 1000mm diameter wheel and can be
easily ramoved fallowing the pracedure set out below.

2.1 Remove steering wheel and steering wheal kay.

2.2 Rermove the 4 countersun® stainless steel screws
wwhich retain the brake cower.

2.3 Whithdraw the brake assenrbiyy.

2.4 Refitthe steering wheel without the key and by pulling
an the whee| withdraw the mput socket assermbly. If
you are unable to apply sufficient forge it ig
permissible to use a wooden bolster on the hub of the
staering wheel and strike with a hammer.

2.9 Rernove 1 plastic shim which |s situated between the
input socket and the face of the top bowl casting.

2.6 Re=assemble in the opposite order using anti-seize
paste on the countersunkscraws,

Cobra 4/4R
Trouble Shooting

Please note the most likely sause of damageis incorrectly
set or missing rudder stops. & is essential the rudder
stops operate before the traved limiter in the head of the
pedeastal-If in any doubt ragarding this point contact your
boat builder or local Whitlock agent. No warranty is
offered where rudder stops aetincorrectly fitted.

The Cobra system is an extmemely robust unit and 15
unlikely to develop any major faults. If damage should
accur. the eauioment can be strioned down as follows:

3.2 Rernove steering whael and input secket assembly as
deseribed in setgion 2.1-2.4.

3.3 Unscrew M 10 hexagen head set serew which securas
quadrant to downshaft assembly. Also withdraw
spring washer and heavy duty plain washear.

3.4 Using a sprocket extractor withdraw quadrant fram
downshalt. Please note: one leg of the extractor
passes through square aperture in quadrant and the
other fits under lip directly cpposite. It is necessary to
place a circular packing piece under the extractor bolt
to prevent damage ta the M 10 thread at the top of the
downshaft. Itis permissible to refit the M 10 hexagon
screw in place of a packer providing itis fully tightened
before extractar is fitted.

3.5 Unscrew the four M 10 stainless steel bolts and spring
washers which locate the lower bearing assembiy to
the pedestal fogt,

3.6 Rermove guadrant feather key from the downshaft.

3.7 Using a wood, aluminium or copper bolster press
downshaft through output socket bearing.

3.B Withdraw downshaft, eutput lever and lower bearing
assembly from the Bottem of the pedestal.

3.8 Re-assembile in the reverse procedure, Pleasa noteitis
assential to apply Lactite retainer grade 601 to the 4 x

M 10 screws securing the lower bezaring housing and
the M 10 screw securing the quadrant to the dewn
shatt. Also apply anti-seize cream to the input sockas

- and top plate screws. Aeceal the compass wire
grommet, compass mounting serews and pedestal
{op plate on re-assembly to prevent ingress of warer.

Whitlaock Marine Steering Co. Ltd.

Marine Staaring Gear and Engindarsg Sodeialists

Crasgent Housa, Latimer Road, Lutonr, BEedfordgkire, Snglend, LU U2
Tel: Luton (0582] 402400 Telex: 326344 Witiok G Fax: 0552 400351

Axhade & Hansson, Maurivaruste Oy,

Mya Varyat, Paasioglankam §,
5421 71V, Fralunda, ‘GF-00500, Helsinki,
Swaden. Finlamd.

Britssh Marine grl,
Via Castagnevizza 4.

Flasiima UEA Inc.,
508 Salnick Drive,

Q054 Fiumiging,
Roma, italy.

Hrage Marin,
Maordhavn 6000,
Kolding, Danrmark.

Huphugr gmel Wik,

e da Soleurs 4,

CH 2072 St BlaiseMNeuschatal.
Lwsirzarland.

Bukh Dissal,

Vertriebsges ellschaf Mbh,
Komswasse 243,

D0:=2800 Bramen 1,

W Germany.

Grean Circle Trading So. Lid..
90 Signet Driva,

Unec 20,

Wasion, Ontario,

Carady ML 1TE,

Yapht Hellaz 8.4,

PO, Box 10185,

941,10 Thizd Salan ik,
Gragep,

Halon Marine Devalopmanes AR

P.0. Box 5380,

0304 Ogle 3,

Morway.

Marine Pawer amd Soarvies Lid.,

Foute 153 Incusirial Park,
Baltirmagra,
MD 29227, USA.

AMesses Plastimo,

BP 182,

104 Lorient Cadaw,
Franmce.

Fower Marine and
Mg ehine (Phyp Lid.,
PO, Box B8,
Constantia 7838,
Sauth Afriza,

Whitlagk Eurcpa,
Industrienawm 2a,
Padtbus 269,

3230 AG Hellgwamarslais,
Netherlands.

Whitlock Soummern.
Shamrozk Oudy,

Wil liam Strean, Mennan,
Southamprom, 501 10L,

Mesars Wele by,
Srunnenfeidsirasss 15,
A-&030 Linz,

Allstnia.

Bias Mail Pry Lid.,
PLEL Bax 11,
Wil le-ug hioy,
MNaw Souih Wales_






